SN2 E£E

24 52 A
HERESTHE
[IRADER] G4 < )
=t H T B OB |RiFEETREl = L T i
fR#%  ( 1,570 A 18,840,000 M )
= # 20,256,000 20,832,000 A 576,000
e (0 118 A 1,416,000 [ )
Moo A 73 100 A 27| TEEFI+
AN & 2,000,000 0 2,000,000 i1 b (BB BT 5 R K 0 A
FIGRER Ty 14,725 51,371 A 36,646
& &t 22,270,798 20,883,471 1,387,327
A HE~A T A%ERT,
[ZHDER] (AT : )
B H T A B |AREE TR = L T =
z x E 20,270,000 18,870,000 1,400,000
s S KFTHE, EERHEE, ERIES
#2oE ok R 8,200,000| 5,500,000 2,700,000 " gy e o R
ARAMEENBIALE | 11,020,000 12,420,000 A 1,400,000| FAMEEEHHEL, 7 T T ILEBI LA
£ S E R 1,050,000 950,000 100,000 & K QR R PR o FIRI &
BB BB I 0 0 0
(AT AAR
JE A 3 e i 4 0 0 0
DAL
Z2 B 7' 1,380,000 1,580,000 A 200,000
=k E 300,000 600,000 A 300,000 #E S - RAEEE
i E & 720,000 650,000 70,000 2HZE D %R
B Ry # 60,000 60,000 0] SRR
K B 300,000 270,000 30,000| 395 FH Ll AR HRIA TACRE
¥ & % 620,798 433,471 187,327
REEZHEX 0 0 0
& Bt 22,270,798 20,883,471 1,387,327

ARNE~A T A& T,

X AREE O THRIRFIZ OV T, 105 HARIIRFEGREGREE L, o045 % [ HERKER
BT HFENL) ICHEANLTH I & LT 5,




